Ratio to ATLAS

0.5

8000 GeV pp Z (Drell-Yan)
= L L L L L I B B B =
- y'(116 < m < 150 GeV) =
— N | u | ] ] m ]
| B W W Py W |

I e e e e s

m ATLAS

—— Pythia 8.308 default
— ---v-- Pythia 8.308 tune-AU2 ]
~ - ©-- Pythia 8.308 tune-AUZlox ‘ 7
| --0-- Pythia 8.308 tune-AU2loxx ¥
— —— Pythia 8.308 tune-AU2m —
_l | | | | | 1 | | | | | | | | | | | | 4+ | | | | | |
:l T T T T | T T T T | T T T T | T T T T | T T T I:
B m_'__f__,m,____@..____ﬂ_m__.‘__.ﬁ_,‘-_-:@___..___.___Ek__.__.---@'“—"—"E'-'r.-_—_-@_.___.___. ._-..._..:E :

e ki

el T GECEES S PEEED SSEE S —

| 1 1 1 1 " | 1 1 1 1 | 1 1 1 1 " | " 1 1 1 1 | 1 1 1 1
0 0.5 1 1.5 2

ellell
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